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SECTION 1 (ENGLISH)
Zor Questions No. 1 to 3, choose the best answer from the given options:
1. The employees were unhappy because their salary was not increased wiveeeesees
A) Marginally C) Abruptlv ——
B) Substantially D) Superfluously

2. The judge ...... him because he was found ....

.....on the basis of the evidence.
A) Acquitted, Criminal

C) Sentenced, Innocent

B) Punished, Guilty D) Suspended, Involved
3. John is too ....cccen as far as his food habits are concerned.
A) Fastidious : C) Involved
B) Interesting ¥ D) Curious

Question Nos. 4 to 6 tests your ability to recognize grammar and usage errors. In each of the
questions given below, a sentence is broken into four parts which are marked a, b, c and d. One of
them may be grammatically or structurally wrong in the context of the sentence. ldentify the
wrong statement. In choosing the answer, follow the requirements of Standard English.

4. A)Even after worked in the office C) He still doesn't understand

B) For as many as fifteen years D) The basic objectives of the
work.

5. A) The interviewer asked the C) Manage to attain fame

actress
B) How she D) In a short period.
6. A)He said that C) With

B)Hehada difference D) The chairman at his statement.

For Question Nos. 7 to 9, choose phrase given in the options which should replac

e the phrase
printed in bold type to make the sentence grammatica]ly correct.

7. Thelong or short of it is that ] do not want to deal with that new firm.

A) The long and short of it C) The long or short forit
B) The long and short for it D) The short and long of it
8. My hair stood off ends when 1 saw the horrible sight
A) Stood at ends C) Stood on ends
B) Stood to ends D) Stand on ends
9. For some days, éhe new professor lectured above the heads of his pupils.
' A) Over the head of C) Over the heads of
B) On the heads of D) Through the heads of
ABO05/1 SET A 201;6 .
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For Question Nos. 10-12, choose the option which best expresses the meaning of the given word

10. CANTANKEROUS
" A)Rash
B} Disrespectful

11.RABBLE
A} Mob
B} Erase

12. SALACITY
A} Bliss
B} Indecency

C) Quarrelsome
D) Noisy

C) Roar
D) Rubbish

C) Depression
D) Urban

For Question Nos. 13-17, choose the option which is the exact oppbsite of the given word

13.FICKLE
A) Courageous
B} Steadfast

14. SUBSERVIENT
A) Aggressive
B) Dignified

15. METICULOUS
A) Mutual
B} Slovenly

16. GREGARIOUS
A) Antisocial
B} Affable

17. GULLIBLE
A) Easy
B} Incredulous

In question No 18, for the given idiom/ phrases, choose the option which gives their correct

meaning

18. In the same boat
A) A worn out choice

B) In identical circumstances.

ABO05/1

SET A

C) Sincere
D) Humble

C) Straightforward
D} Submissive

C) Shaggy
D) Ridiculous

C) Horrendous
D) Similar

C) Stylish
D) Fickle

C) indifferent
D) None of these
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For question No 19-20, rearrange the following sentences In the proper sequence to form a
meaningful paragraph and answer the questions

I reached at 11 o'clock after sending the money
Some money had to be sent to my parents

After that, | spent almost an hour at the post office
Therefore, | went to bank to withdraw some money
However, I had no money with me

LN

19. Which statement should come first in the paragraph?

A)1 )2

B) 3 D)4
20. Which statement should come last?

A)1 )2

B) 3 D) 4

SECTION 2 (GENERAL AWARENESS)

21. Indiaisa

A) Sovereign, Socialist, Republic

B) Sovereign, Socialist, Secular, Democratic, Republic
C) Sovereign, Democratic, Secular, Republic

D) Sovereign, Socialist , Secular, Republic

22, As an alternative to the partition of India, Gandhi ji suggested to Mountbatten that he

A) Postpone granting of independence
B) Invite Jinnah to form the government

C) Invite Nehru and Jinnah to form the government together
D) Invite the army to take over for some time

23. The first writer to use Urdu as the medium of poetic expression was

A) Amir Khusrau C) Bahadur Shah Zafar
B) Mirza Ghalib D) Faiz

24, Israel héﬂs common borders with

A) Lebanon, Syria, Jordan and C) Cyprus, Turkey, Jordan and

Egypt Egypt
B) Lebanon, Syria, Turkey and D) Turkey, Syria, Iraq and Yemen
Jordan

25. The currency of the European Monetary Union is:

A) Dollar C) Guilder
B) Euro D) Mark

AB05/1 SET A 2016
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Economic Survey in India is published-officially, every year by the

A) Reserve Bank of India C) Ministry of Finance, Govt.
of India
B) Planning Commission of DY Ministry of Industries,

India Govt. of India

Tourism Industry in India is quite small compared to many other countries in terms of
India’s potential and size. Which one of the following statements is correct in this regard?

A) Distances in India are too far apart and its Juxury hotels are too expensive
for western tourists

B) For most of the months India is too hot for western tourists to feel
comfortable

C) Most of the picturesque resorts in India such as in the North-East and
Kashmir are, for all practical purposes, out of bounds

D) In India, the infrastructure required for attracting tourists is inadequate

Which of the following cricketers holds the record, for the highest score in a Cricket Test Match
innings by an Indian?

A) Sunil Gavaskar C) Sachin Tendulkar

B) Vinoo Mankad D) V.V.S Laxman
Who among the following is not a recipient of the Bharat Ratna Award?

A) Ustad Bismillah Khan C) Lata Mangeshkar

B) Satyajit Ray D) Dilip Kumar

The Prime Minister of India, at the time of his/her appointment

A) Need not necessarily be a member of one of the Houses of the Parliament
but must become a member of one of the Houses within six months.

B) Need not necessarily be a member of one of the Houses of the Parliament
but must become a member of the Lok Sabha within six months.

C) Must be a member of one of the Houses of the Parliament

D) Must be a member of the Lok Sabha

Which one of the following statements is not correct?
A) Gujarat has the longest coastline in India.

B) Indira Gandhi Canal is the longest canal in India.
C) Kaharbude is the longest tunnel in India.

D) Kovalam is the longest sea-beach in India.

Consider the following statements and select the correct answer using the code given below:

1. The Greater Himalayas receive more rainfall than that of the Lesser Himalayas.
2. The rate of environmental degradation is more in the Lesser Himalayas than that of the

Greater Himalayas.
Code:
A) Only 1 is correct C) Both 1 and 2 are correct
B) Only 2 is correct D) Neither 1 nor 2 is correct
ABO05/1 SET A 2016
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33. Which one of the following states has the highest coal reserves?

A) Andhra Pradesh C) Jharkhand
B) Chhattisgarh D) Madhya Pradesh

34. Which one of the following is the longest National Highway (NH) of India?

A) NH-5 C) NH-7
B) NH-6 D) NH-8

35. The Headquarters of the Central Water Transport Corporation is located at:

A) Bangalore C) Hyderabad
B} Hubli D) Secundrabad

36. The highest percentage of scheduled castes population is in the state of:

A) Haryana C) Punjab
B) Himachal Pradesh D) West Bengal

37. The lowest female literacy rate is in the state of:

A) Bihar C) Rajasthan
B) Jharkhand D) Uttar Pradesh

38. Which one of the following is not the objective of the Integrated Rural Development"

‘A) To promote employment among the graduates.

B) To provide assistance in self employment opportunities.
C) To give assistance to a target group of rural poor.

D) The target group includes marginal and small farmers.

39. Whose autobiography is subtitled as Subsfcance and Shadow?

A) AP] Abdul Kalam C) Dev Anand
B) Dilip Kumar D) Atal Bihari Vajpayee

40. The Capital of recently created Telangana State is:

A) Amravati C) Vijayawada
B) Hyderabad . D) Guntur

41. Cultural and Educational Rights are mentioned in:

A) Article 28 & 29 C) Article 30 & 31
B) Article 29 & 30 D) Article 28,29 & 30

42. Which article deals with the special status of Kashmir?

" A) Article 356 C) Article 370
B} Article 352 D) Article 368

AB05/1 SET A . 2016°,
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43. Which one of the following is not the organ of the Government?

A) Democracy C) Executive
B) Legislature D} Judiciary

44. Who served as the acting Prime minister of India:

A) Pandit Jawaharlal Nehru C) Gulzari Lal Nanda
B) Lal Bahadur Shastri D) Rajiv Gandhi

45. Who is the author of the book Wings Of Fire?

A) Pandit Jawaharlal Nehru C) AP] Abdul Kalam
B} Maulana Abul Kalam Azad D) None of these

46. A rise in ‘SENSEX’ means

A) arise in prices of shares of all companies registered with Bombay Stock
Exchange

B) a rise in prices of shares of all companies registered with National Stock
Exchange

C) an overall rise in prices of shares of group of companies registered with
Bombay Stock Exchange

D) a rise in prices of shares of all companies belonging to a group of
companies registered with Bombay Stock Exchange.

47. Zayed bin Sultan-al-Nahyan was a long serving President of which of the following?

A) Oman C)' United Arab Emirates
B) Kuwait D) Saudi Arabia

48, Consider the following statements:

1. There are no east flowing rivers in Kerala.
2. There are no west flowing rivers in Madhya Pradesh.

Which of the statements given above is/are correct?
A) 1 only C) Both 1 and 2 ’
B) 2only . D) Neither 1 nor 2 ]

49. The term of the Lok Sabha

A) Cannot be extended under any circumstances
B) Can be extended by six months at atime
C) Can be extended by one year at a time during the proclamation of

emergency '
D) Can be extended for two years at a time during the proclamation of
emergency
ABO05/1 SET A 2016
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50. Who among the followlng was the first Bhaktl saint to use Hindi for the propagation of his

message?
A) Dadu C) Ramananda
B) Kabir D) Tulsidas

51. Match List-1 with List-1l and select the correct answer using the codes given below the lists:

List-1 (National Park/Wilf-life Sanctuary) List-II (State)
a) Bondla Wildlife Sanctuary 1) Orissa
b) Kangerghat National Park 2) Assam
c) Orang Sanctuary 3) Chhattisgarh
d) Ushakothi Wildlife Sanctuary 4) Goa
5) Tripura

a b c d
A) 2 1 5 3
B) 4 3 2 1
C) 2 3 5 1
D) 4 1 2 3

52. Which one of the following is the correct statement?

Service tax is a/an

A) Direct tax levied by the Central Government
'B) Indirect tax levied by the Central Government
C) Direct tax levied by the State Government

D) Indirect tax levied by the State Government

53. Which one of the following is known as the Shrimp Capital of India? -

A) Chennai C) Nagapattinam
B) Machilipatnam D) Nellore

54. India has been described by the Constitution as:

A) A".F‘ ederation of States C) A Union of States
B) Quasi-federal D) None of these

55. Which of the following States border Uttar Pradesh?

1. Punjab 2. Rajasthan

3. Chhattisgarh 4, Jharkhand

Select the correct answer using the codes given below:
A)1,2,3and 4 C)1land 4
B)2,3and 4 D)1and3

56. The Constitution of India has provided for

A) Single citizenship C) Double citizenship
B) Multiple citizenship D) None of these )

ABO05/1 SET A 2016
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57. Among the following citles, which one Is nearest to the Tropic of Cancer?

A) Delhi C) Jodhpur
BY Kolkata D) Nagpur

58. Which one of the following is the leading producer of coffee in India?

A) Andhra Pradesh C) Kerala ‘
B} Karnataka D} Tamil Nadu

59. Which one of the following states has the highest percentage of the forest area?

A} Arunachal Pradesh C) Nagaland
B) Mizoram D) Tripura

60. Consider the following statements and select the correct answer using the code given below:
1. Odisha is the leading producer of manganese.

2. Karnataka is the leading producer of iron-ore.
Code:

A)}Only 1is correct C) Both 1 and 2 are correct
B)-Only 2 is correct D) Neither 1 nor 2 is correct
SECTION 3 (REASONING)
For Question No 61-63, study the following information and answer the questions given below:

61. Pointing to a lady in the photograph, Ram said, “Her son'’s father is the son-in-law of my mother”.
How is Ram related to the lady?

A) Sister C) Aunt
B} Mother D) Cousin

62. A man has two wives A and B. A is Sunny’s step-mother. How is Sunny related to B?

A) Step daughter C) Sister-in-law
B) Son D) Husband
63. Find the odd one out: . '
A) Fish " C) Frog
B} Crocodile : D) Turtle

64. Find out the odd one out:

A) Heart: Lungs : Kidneys C) Pen: Pencil: Bucket
B} Mobile: Laptops: Computer D) House: Cottage: Hostel

65. Find the odd one out:

A) Sahara: Africa C) Thar : India
B} Kalahari: America D) Gobi : Mongolia

ABO05/1 SET A 2016
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66. Find the wrong term in the series 7, 11, 13, 15, 19,23:

A) 13 C) 15
B) 19 D) 23

67. Find the wrong term in the series 2, 10, 50, 260, 1250, 6250:

A) 50 C) 260
B) 10 D) 1250

68. If FRANCE is coded as NCEFRA and CANADA as ADACAN, then how will you code MEDICINE?

A) CNIEMEDI C) CINEMEDI
B) CINEDEMI D) CINEDEIM

69. If code for NAME is 13261422, then what will be the code for TEAM?

A) 7222614 C) 1426227
B) 7262214 D) 7142622
70. The following four words are arranged in alphabetical order, which word will come at the second
place?
A) Electric - C) Elector
B) Elect D) Electrode

71. Select the combination of numbers, so that the letters arranged will form a meaningful word. LA

HNRCAB

.
s | 2
-

1 23456
A 2,5,3,4,1,6 C.3,5,6,4,1,2
B. 41,56,2,3 D.6,3,5,2,4,1

72.How many meaningful English words can be formed by using the letters of the word

‘ALEP”?
A) One C) Two
B) Three D) More than three

73.A girl was going towards West, and then she turned left, then turned 90 degrees in
clockwise direction. In which direction was she going now?
A) East C) West
B) North D) None of these

74. The mean weekly pay for ten persons equals to Rs. 100. If one of the person gets a hike of
Rs. 10 per week, what is the new mean weekly pay?

A) Rs. 99 C) Rs.101
B) Rs. 200 D) Rs. 250
75. Find the probability that a vowel chosen at random from the 5 vowels is an T'.
A) 4/5 C) 1/3
B) 1/5 D) %
ABO05/1 SET A 2016
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76. Two unbiased dice are thrown simultaneously. The probability of getting the sum divisible
by 3, is?
A) 11/36 C) 12/36
B} 13/36 DY17/36

77.Mean of 11 observations is 17.5. If an observation 15 is deleted, find the mean of the
remaining observations.
A) 175 C} 17.25
B) 17.75 D} None of these

78.A man borrows Rs. 12,000 at 8% simple interest for two years. He repays
Rs. 12,000 at the end of second year and balance at the end of third year. How much did he
repay at the end of third year?

A) Rs.2145.40 C) Rs. 2073.60
B) Rs. 2042.20 D) Rs. 2130.90

79.Find the number of different ways of forming a committee consisting of 3 men and 3
women from 6 men and 5 women.

A) 30 Q) 20
B} 10 D) 25
80. A stationer buys diaries at Rs. 75 per dozen and sells them at Rs. 15 per piece. What is the
profit?
A) Rs.75 C) Rs.100
B) Rs.105 D)Rs.110

SECTION 4 (SOCIAL AWARENESS)

81. Indian social reality is:

A) Religious C) Multicultural ,
B) Homogeneous - - D) Ideological

82. The coordinal principle of Indian social order is:
A) Tolerance and Consensus C) Conflict and Consensus \
B) Diversity and Conflicts D) None of these

83. Groups demanding reservation because of:
" A) Preservation of Religious Identity ~ C) Preservation of Caste Identity

B) Discrimination D)Preservation of Linguistic
' Identity
84. The United Nations Organization was created to:
A) Promote International Peace C) To help the Developing
Countries

B) Check the Spread of Communism D} Protect the U.S. Interest

85. Who is considered to be the architect of the Indian Constitution?
A} Jawaharlal Nehru - CJ} Mahatma Gandhi
B} Rajendra Prasad D} B.R. Ambedkar

ABOS/1 SET A 2016
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86. Consider the following:
1. Right to Education
2. Right to Employment
3. Right to Food

Which of the above is/are Human Rights?

A) 1only C) 1and 2 only

B) 3 only D)1,2and3
87.1n India, 2 minority is identified on the basis of

A) Religion only C)Either Religion or

Language

B) Either Language or Caste D) Either Religion or Race
88. Which of the following is not an agency of socialization?

A) The Family C) Mass Media

B} School D) Hospital

89, The Jamia Millia Islamia was established to:
A) Protect the Interests of the Muslims
B) Protest against the British System of Education
C) Promote Muslim Education
D) All the above.

90.Inclusive growth as enunciated in the 11th Five Year Plan doesn’t include one of the
- following:
A) Reduction of Poverty
B) Strengthening of Capital Markets
C) Extension of Employment Opportunities
D) Reduction of Gender Inequality

91. The aim of basic education, as per the dream of Gandhi ji is to I. Create a Classless Society,
IL. Create a Sarvodaya Society lII. Create a Society Respecting all Religions IV. Create a
Society where a Rich and Poor can Live Together

A) Al 11,111 and IV are correct.

B) Statements II, 11l and IV are correct.
C) Statements], Il and Il are correct.
D) Statements], Il and IV are correct.

92. Valmiki Ambedkar Awaas Yojana is meant for:
A) Fighting Caste System
B) Removal of Manual Scavenging
C) Reduction inPoverty and Increase in Employment
D) Promoting Amb edkar’s Philosophy

93. “Mann ki Baat” is meant for:

A) Promoting an Ideology C)Connecting with the Magses
B)Making Election Propaganda D) Criticizing the Opposition
ABO05/1 SET A
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94. Nirbhaya Fund was incorporated for:

A) Meeting the Legal Expenses of the Rape Victim

B) Protecting the Dignity and Ensuring Safety of Women
C} Empowerment of Women
D) Reducing Gender Inequality

95. Who is the National Sanitation Brand Ambassdor in India?

A) Smriti Irani C) Vidya Balan
B) Hema Malini D) Najib Jung

96. Section 377 of the Indian Penal Code (IPC) is about:

A} Lesbian, Gay, Bisexual and Transgender
B) Child Labour

C) Special Status for Jammu & Kashmir
D} Sedition

97. What type of justice exists if employees are being open, honest and truthful in their
communication at work?

A) Distributive C) Interactional
B} Ethical D) Procedural

98. National Anthem was composed by:

A) Bankim Chandra Chatterjee C) Bankim Chandra Chattopadhyay
B) Bankim Chandra Mukherjee D) None of these

99. The National Language of India is:

A) Hindi : . C) Hindustani
B} English D) None of these

100. Malala Yousafzai is in the news because she:

A) Wanted to Settle down in U.S. C) Fought for Girl Education
B) Fought for Gender Equality D) Fought for Restoring Democracy
in Pakistan
ABOS/1 SET A 2016
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Section - I (English)

The little child was so excited that he ¢oald not
A. threw ’

B. thrown
C. lights
D. throw :

All the employees in the company are entjtled
A. of -

B. for

C. on
D. to

He could
hard.

A. spend
B. spoil

C. accumnulate

D. pay

The child broke.....
A. away

B. after

C. down

D. with

......... the burning candle.

.........

«eerenei..from his mother and ran towards the painting; -

reimbursement of medical expenses.

................. a lot of money in such a short time by using his intelligence and working

There is no doubt that one.has to kéép.. ............... with the changing times.

A. himself
B. pace
C. .oneself
D. aside

They wanted 10. ................all these books, but they could not find.......eoooulime to do so.

A. buy, some

B. read, sufficient
C., dispose, some .
D. pursue, necessary

DUE (O...comrrerssens rainfall this year, there will be
A. meagre, lcast

B. abundant, considerable

C. cnough, substantial

D. surplus, abundant

Please ring me up as soon as he ...
Will come -
Would come

eomes

eame

vowy

SET A

evesones

......... cut in water supply.
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9, He staycd at home bccause he veeseetoneneennss 8 COI.
A. is having .

B. has
C. was having =
‘D had -

10, Howlong.............. ?

A. you are waiting

B. are you waiting _

C. you have been waiting A

D. have you been waiting ™ :
11, Tll write down the phone number .........::........ Iforget. = . :
A. if : B

B. unless

C. incase

even though

"A. even -

B. if

C. evenif

D. _even though

12. ‘Twon’ t forgive them for what they sald ......................... they apologise.

——— -

Dircetions — Each -of these questlon sets has a group of sentences marked -with . numbcrs
Rearrangc them in proper 'séquence’ to form a meaningful paragraph and answer the qucst:on

given beloyw cach set.

That day, Billu wanted to take a day off from school.

bl ol ol

‘Therefore; he pretended to be sick and remained in bed.

13. Which sentence should eome fourth in the paragraph?

CORE>
w»an—

14.  Which sentence should come last in the paragraph?

A ]
B. 2
C 3
D. 4
5.  Which-septence should come (rst in the paragraph?
Al
B. 2
c. 3
D. 4
B05/1 S " SETA

After examination, the. doc(or Smlled at him mischievously and took out a syringe. . '
Thinking that he was really snck his father summoned the family doetor. '

Immediately, Billu jumped up from his.bed and swore that he was fine.

-
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16.

17

18.

19.

20.

21,

22.

23.

BOS/1

24.

e

5

Which sentence should come third in the paragraph?
A1 ” ‘

HWN

hich sentence should come Second in the paragraph?

4 DowrpE 9OV
W oW -

he government is planning 10 Sel .......covwerssesssmseassas family welfare centres for slums in cities.

another .
with

in

up

oow>

Eave business activity et seesessens employment to people who would otherwise be
unemployed. ' L

A. taking
B. finds

C. creales
D. provides

Economie independence and .education have .....i.icicresecmnss women niore assertivc.
prepared ' o ’

made

marked

resulted

/

oow»>

SECTION -2
(General Ayvareness)

Communists believe in:

A. Laissez faire

B. State ownership of all means of production
C: Mixed economy

D. Privatisation

Who was the head of the Drafting Committee of the Conslitution?

A. Sachidanand Sinha

B. B.N. Rao

C. Jawaharlal Nehru

D. B.R. Ainbedkar

The Constitution is declared 1o have been-adopted and4dacted by the: .
A. Conslituent Assembly

B. People of India
*C. Indian Parliaiment

D. British Parliament

SET A 2017
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24.

25,

26.

.
.y o

. ZF.

28.

29.

30.

3L

BU5/1

6

Which was the Caplml of Andhra State when it was made a separate State in the year 19537

A. Guntur
B. . Kumool
C. Nelore

D. Wamngal .

The Constitution of India recognizes:
A. Only religious minorities
B. Only linguistic minorities
C. Rehglous and linguistic minorities
D: Religious, linguistic and ethnic minorities

The Fundamental Rights have the sanction of:
A. The Supreme Court
B. The Constitution
C. Majority opinion
D. The Government

C— -

The purpose of the inclusion of Directive Principles of State Policy in the Indian Constitution is

to establish:”
~-A. Political demdcraey
B. Social democracy .
C. Gaadhian democroicy
D Social and economic democracy

Wher the Chairman of Rajya Sabha acts as President, lhc duties of the Chairman are performed

by:
A. Hlmself
B. A newly elected Chairman
C. The Deputy Chajrman -

D. A member of Rajya Sabha dcpulcd by the Chairman

Kuchipudi is a dance form of:

A. Odisha

B. Kerala

C. AndhraPradesh
D. Kamataka

l

thn is the Teachers’ Day cclebrated?
A. 28 August
B. 5 Scptember

C. 3 October
D. 19 Oclober
When did the Eleventh Five Year Plan period end?
A. 2009
. B. 2010 .
C. 2011
D. 2012

SET A
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32.  USA has asked Indna to reduce its depcndence on cmdc oil supply from which of the following

countries? ‘ ‘
A.- Venezuela ’ -
e - B. Iraq . - -
C. Libya
D. Iran ’

33.  Treaty of Seringapatarn was signed between:
A.  TipuSultan and Nawab of Hyderabad
B.  Tipu Sultan and English 4
C.  Tipu Sultan & Rani of Jhansi
D. Tipu Sultan and French

! L
34.  Kolar Gold Mines are in this state: T :
A. Kamalaka
B. Bihar
C.  Odisha

/D.  Madhya Pradesh

35. The lcrm “White Elephant’ is used to denote
Very bright and white item
B. Very costly and expensive item
C. . Anitem or a head that is very costly to maintain

D. An xtem ora head that i is a part of the nauonal economic budget of a country

30. The term ‘Buherﬂy Stroke’ is assoclated wnh

A, Kabaddi
B.  Wrestling
C. Polo

D. Swimming

37. Indiaisa:
A. Secular Statc
B. Bilingual State
C. Communist State
D. Capilalist State

38.  The real powers in the Central Government are enjoyed, according to the Constitution of India
by the:
A. President of India
B.  Vice-President of India
C.  Prime Minister of India

D. Council of Ministers

39. Indian Institute of Advanced studies is located at:
- Shimla )

Solan -

Dharmshala

Chandigarh

vom>
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40.  Select the correct match . ' .
Film Actor ’ /
1. Deewar ' ’ A. Saleem Jawed
2. Sholey B. Dilip Kumar
3. Shakti e 4 C. Amitabh Bachchan
4. Mughle Azam ’ D. Naushad

. E. Madhubala
A. l-A,2-C,3-D,4-B

B. 1-C,2-B,3-D, 4-E

C. 1-C,2-A,3-B,4-D

D. 1-D,2-C,3-E,4-B*

41.  NASA is the name of space agency of
A. Netherlands
B. Britain
C. America
D. India

42.  The most powerful Upper Chamber in the world is:
A.  American Senate
. B. "British House of Lords %
. C. Rajya Sabha of the Indian Repubhc
D. None of the above

43. ' - Which oneof the followmg was a journal brought out by Abul Kalam Azad?
© AL AlHilal T .
B. Comrade
C. The Indian Socxologlst
D.. Zammdar

44,  National Defence Acadcmy (NDA) is situated at:
A. Kharadwasla (Puna)

B. Dehradun
C. Allahabad
D. Chennai
45.  What is the eomrect match
State .. Capital
1. UAE © A.Tripoli
2. SAUDI ARABIA ° B. Benghazi
3. JORDAN C. Amman
4, LIBYA D. Jeddah
E. Riyadh
F. Dubaij
G. Abu Dhabi
A. I-F,2-D, 3-B,4-G
. B. 1-G, 2B, 3-D, 4-F
C. 1-G,2-E, 3-C,4-A
D. 1-C,2-F, 3.E, 4-A

~
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417.

48.

50.

Sl

52.

53.

54.

BUS/1

-A. Ranji Trophy

_C. Singer-Akai-Nidahas Trophi'

" Which one among the followin

9

The largest number-of Buddhists is found in:
A. Bihar . .
B.- Kamataka »5 -
C. Maharashtra R
D. Uttar Pradesh . -

The thermal power plant of Bokaro is located in:
A. Bihar '
B. Chattisgarch

C. Jharkhand

D. Orissa

The song ‘Amar Sonar Bangla® written during the Swadeshi Movement of India inspired the

liberation struggle of Bangladesh and was adopted as the National Anthem of Bangladesh. Who
wrote this song?

A. Rajni Kanta Sen

B. Dwijendralal Ray
C. Mukunda Das

D. Rabindranath Tagore

The following trophy is not associated with cricket:
B. Rohintan Baria Trophy
D. Asia Cup

_ g major Indian citics is most eastward located?
A. Hyderabad . '
B. -Bhopal

C. Lucknow
D. Bengaluru

Elephant pass is mentioned in the co_;m:xt of the affairs of which one of the following?
A. Bangladesh

B. India
C. Nepal
D. Sri Lanka

Whieh one of the following Indian banks is not a nationalized bank?
A. Corporation Bank

B. Dena Bank

C. Federation bank

D. Vijaya Bank

Air Force Administrative College is situated iné
A. Hyderabad )
B. Coimbalore

C. Bidar

D. Agra

Who omong the following is not a recipient of the Bharat Ratna Award?
A. Uslad Bismillah Khan

B. Satyajit Ray
C. Lala Mangeshkar
D. Dilip Kumar

SET A 2017
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57.
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Birla Institute of Technology is situated at:
A. Ranchi

B. Jaipur :

C. Kota -

D. Haridwar : - -

Consider the following animals of India:
1. Crocodile
2. Elephant

Which of these is/are endangered species?
A. Only 1
B. Only2
C. Bothland2 ' !
D. Neither I nor2 :

Consider the following statement:

I. Andhra Pradesh has the longest coastline

2. Guijarat has the highest number of airports
Which of the statements given above is/are eorrect?
A .1 only-

B. 2only

C. Both 1l and 2

D. Neither 1 or 2

58..

59.

60.

Zayed bin Sultan-al-Najyam was a long secving President of which of the following?
A. Oman : :
'B. Kuwait

"C. United Arab Emirates

D. Saudi Arabia

Wlio among tlic following wrole ‘The Communist Manifesto’ along with Karl Marx?
A. Emile Durkheim

B. Friedrich Engels

C. Robert Owen

D. Max Webcr

,Which one of the following is not a Cenlral University?
A. Pondicherry University

B. Maulana Azad National Urdu University, Hyderabad
C. Banaras Hindu Universily

D. University of Madras, Chennai

Section -3
(Reasoning)

Choose the odd numberfword pair/group in the following question.

61.

"BOS/1

A. Book: Page
B. Table: Drawer
C. Loom: Cloth
D. Car: Wheel

SETA
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of words:

In each of the following quesnons, find the word or poir of worzic di _ﬁérenlﬁ om the three words or pair

62.

63.

A. Gather

B. Congregate
Accumulate L
. Aggrepate -

. Mango-fruit

. Rice-com
Student-Class

. Tomato- Potato

gow» U0

Three of the four numbershvords/letters of the ﬂJHowmg quemons belong {o the same grorp or class.

Pick up the one that does not belong fo that group:,

| .
6.
66.

67.

68.

69.

BOS/A

Uop>.UOW>"UOW>

. Orange, Apple, Guava

. Brinjal, Pomegranate, Wheat
Rice, Pulses, Cotton

. Cumin, Coriander, Millet"

. Ostrich, Hen, Swan

. Duek, Lion, Horse

.Zebra, Cabbage, Rose )
. India, World, Mobile .

. Keyboard, Mouse, Category
Leveret, Club, Elephant
Yen, Pound, Currency

. Hertz, Calorie, Watt :

Find the wrong term in the scncs7 11,13, 15, 19,23,
A. 13 -
B, IS
C. 19
D. 23

In’a certain l'anguage, ‘PILOT’ is wrilten as *LIPTO?’, then how ‘MASON’ will be wrilten in that
code? ’

A. SAMNO
B. MASNO
C. SMAON
D. None of these

In & certain language, ‘PEN’ is wrilten as ‘QDM?, then how ‘BOOK’ will be writien in that
code?

A. CMIN
B. CNNIJ
C. CNLS
D. NMJIP

SET A 2017
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A, WALKER
B. SUFFER
C. VIOUER
D. SUITER

12

1f ‘SUMMER’ is coded as ‘RUNNER?, thea ‘WINTER’ will be coded as

In each of the following queshons arrange the words in a meanmgful logical order and then select the
appropriate sequence from the alternatives provided below each of the groups of words:

1.

7.

73.

In each of the following questions, a word has been given, followed by four other words, one of which
cannot be formed by using the letters from the given word, Find that word:

74.

75.

~BOs/

PDAE» BAWNS UNE»

1. Protect
2. Pressure
3. Relief

FNEEES
}hv-h_-h-
ot o
—

—_— W W U

Nl
- B
g

niverse
Tlrupall

. World
Indna

-~
)
-

- .

-
-b—‘:_' (¥,]
-
— Lo

»

-

T W N —
(FORN URE S

-

LEARNER
A. REAL
B. REEL
C. NEAT
D. EARN

EDUCATIONAL

A. NATIONAL
B. NEAT
C. DEAN
D. LION

Pradesh

-
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76.  PERMANENT
A. REMNANT
B. TRAMP )
C. MENTOR - - C .
D. AMPERE =~ 7. - : ‘

In the foliowing questions, arrange the given words as per order in the dictionary:

7/

77. 1. Zephyr RSN

78. -

79.  Lis the father of N and P. P is the son of L but N is not the son of L. How is N relaled to L?
A. Daughter '
B. Son-in —law
C. Mother -
D. Niece

80.  Showing a photograph to a friend, Ravi says, “She is the granddaughter of the clder brother of
.ty father”. How is this gir) related to Ravi?
A. Nicce ’
B. Sister

C. Aunt
D. Sisler-in-faw

li ' Scetion -4
(Social Awnreness)

- 8). The highest civilian award of India is:
A. Padma Vibhushan
B. Padma Shri
C. Bharat Ratna
D. Param Vir Chakra

B05/) ' SET A 2017
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82.  The Jamia Millia Isla

mia was establ; .
A. Protect the in ished to:

B Props e t'el";st of Muslims
o & ' against the British system of ed '
C. Promote Muslim educationy * weaton ' |
D. None of these |
83, Valm_iki Ambedkar Awaas Yojana is meant for:
A. Fighting caste system

B. Removal of manuaj scavenging

C. Reducli_on in poverty and increase.in employment
D. Promoting Ambedkar's philosophy

84.  Which of the following values is considered by a bank when it gives loan against LIC policy?
A. Face value
B. Surrender value
C. Insured value
D. All ofthese

. 2 1
85.  Ten Commandments were revealed by God to: . )

A,- Abraham : {
B.. Moses ) '
Q. Jesus - '
-.D. Peter
86.  Junk e-mail is also called?
" A. Spool
B. Spam
.o.CStam |
. D. " Junk:mail

87.  Who replaced Planning Commission in 2015?
- A. -NITI Aayog
B. NIYAM Aayog
~.C. NIYANTA Aayog ‘
D. PRITI Aayog

88.  The process of increasing knowledge and skill for a specific job is:
A. Training
B. Development
C. . Performance appraisal
D. Leadership
89.  Which of the following is the most essential financial service to the poor people to bring them in
the network of financial inclusion? ‘
A. Insucance for life
B. Investment plan for future
C. Pension for old age
D. A bank account where he/she ¢an save sinall amount
%0.  The population growth rate in Kerala is the lowest among major Indian states. Which one of the
following is (7 niost widely actepted reason for this? - ,
A. Kerala has made the highest investinent in family planning
B. Kerala has the highest literacy rate in India g
C. Kerala has invesicd heavily in prometing literacy and public health and placed high priority on
social palicics
D. ‘The population pyramid in Kerala has relatively fewer women in the reproductive age group
Bos/1 '
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. TRAI refersto: i = . ,
°! A. Termestrial Remote Sensmg Authority of India o A _ ,
B. Telecommunication Research Authority of India . : .
C. Transport Regulatory.Authority of India
D. Telecom Regulatory Authority of India

92.  Which is known as the Electranics City of India?

A. Tumkur
B. Secunderabad
C. Bhopal

D. None of the above

93.  Thename of the Union given in the Constitution is:
A. Hindustan or Bharatavarsha
B. India or Hindustan - ’
! C. Indiaor Bharat S o
D. Bharatadesh or India ' : ' :

94,  Performance of which of the following is NOT consndered infrastructural sector of economy?
A. Electricity

B. Textile Sector
C. Tele_com )
D. Road and Railways T

95.  Which of the following is an cxample of Indirect Tax?
A. Wealth Tax
B. Corporation Tax
 C. Value Added Tax
‘D:" Income Tax

96. ~ Which counlry is known as the land of golden wool?
A. India . '
B. Turkey
‘C. Australia
- , D. Myanmar

E 97.  Kalinga in older days is now known as:’
A. Odisha

B. Kohima

C. Kamataka

D. Maharashtra -

98.  Nanda Devi peak forms a part of:
i A. ~Assam Himalayas

! B. " Kumaon Himalayas

C. Ncpal Himalayas

D. Punjab Himalayas

-———

99.  Mainstrecaming is a term associated with:
A. Carecr education
B. Education for the handicapped
C. Interage class groupings

' D. Environmental education

- -

v 100. Lord Venkatcshwara Temple is located in:
A. Coastal Andhra

B. Rayalasecma

C. Tclangana

D. None of these,

BOS/I = - SET A 2017
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